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Light Year is the unit of astronomical
distance equivalent to the distance that
light travels in one year. 1 Light Year =9.46
X1015m

Cusec is a measure rate of flow (of water or
other fluids).

Byte is a unit of digital information in
computing and communications that
consist eight bits.

Richter scale assigns amagnitude number to
quantify the energy released by earthquake.

Bar is a metric unit of pressure exactly
equal to 100,000 Pascal.

Tacheometeris used forrapid measurements
and determines electronically the distance
to target and is highly automated in
operations. Other options are correctly
matched.

Movement is not possible on any
frictionless surface as friction is required
for movement. Hence, statement (A) is
wrong.

Momentum is the property that a moving
object has, due to its mass and motion.
Hence, statement (R) is correct.

If four-wheeler is moving faster than the
relative speed then it skids outwards but
the frictional force provides the necessary
centripetal force which ensures the car to
have curved path.
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11.

13.

If there is no resistance from the air, both
the balls will hit the ground at the same
time. But in the presence of air, the heavier
things fall faster than the lighter things. The
resistance from air slows down the fall of
lighter things.

The earth spins and moves through space in
an orbit around the sun. We don’t feel this
movement because we are spinning and
moving through space with the earth.

If the gravitational force of the eaith
suddenly disappears, then the weight of an
object will become zero but the mass will
Temain same.

Gravitational force is the weakest force
among the four fundamental forces while
Nuclear force holds the position of strongest
force among them.

The shape of a drop of rain is constrained
by the surface tension, which fries to give
it the shape for which the surface area
is minimum for the given volume. The
spherical shape has the minimum surface
area that’s why rain drops acquire spherical
shape.

The excess pressure inside the soap bubble
is inversely proportional to the radius of
soap bubble. When these two bubbles are
connected by a tube, the air will flow from
smaller bubble to bigger bubble due to the
fact that small bubble having smaller radius
will exert more pressure. Hence, the bigger
bubble would grow at the expense of the
smaller none.

Capillary action is the ability of a liquid to
flow in narrow spaces without the assistance
of, or even in opposition to external forces
like gravity. But, if a person wants to
consume the soft drink, he needs to impose
some external force by his mouth.

In winter, when the upper layer of the lake
reaches the status of 0°C, the ice is formed,
but the water below remains in the fluid
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condition at 40C. Thus, fishes and other
aquatic animals are saved from the frozen
top layer of water.

Photosynthesis is the process used by
plants to convert light energy into chemical
energy.

The light of short wavelength is scattered
much more than the light of long
wavelength. The speed of visible light in
water is 0.75 times the speed of light in
vacuum. Thus, statement 1 and 2 are wrong
while 3 and 4 are correct.

The Positron has a positive electric charge
and has the same mass as an electron. Its
spin is %.

Neutrinos are sub-atomic  particles
produced by the decay of radioactive
elements and are elementary particles that
lack an electric charge and mass.

Quarks combine to form composite
particles called Hadrons. Quarks possess
fractional charge (-1/3 to +2/3).

Photon exhibits the property of ‘integral
spin’.

Addition of solutes in water lowers its
water potential by which it becomes
negatively charged. Adding solutes makes
the water molecules less concentrated and
this reduces the chemical potential of water
in the system.

Lithium is the lightest and Osmium is the
heaviest (or densest) metal.

The chemical composition of Pearl is 85%
Calcium Carbonate, 10-14% Conchiolin
and 2-4% of water.

Sodium vapour lamp is usually used as
street light because it gives monochromatic
yellow light which does not split through
water droplets.
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® Talc is a mineral which is composed of
hydrated Magnesium silicate with formula

Mg Si,0, (OH),.
B The correctly matched list is as follows:
Cracking - Pefroleum
Smelting - Copper
Hydrogenation - Edible fats
Vulcanization - Rubber
A

®  Galvanisation is the process of applying a
protecting zinc coating on steel or iron to
prevent them from rusting and oxidation.

®  Magnetite is an ore of Iron while Silver
Bromide is necessarily used in photography.

® Buckminster Fullerene is a spherical
Fullerene molecule whose formula is C-
60. It resembles a football, made of 20
hexagons and 12 pentagons with Carbon
atoms at each vertex of each polygon and a
bond along each polygon edge.

® Diamonds are used for grinding, cutting,
drilling and polishing. Hydrofluoric acid
is also one of the strongest inorganic
acids which is used mainly for industrial
purposes. This is the reason why HF is not
stored in glassware

B  The correctly matched order is given
below:

Study of Birds - Ornithology
Study of Inheritance - Genetics
Study of Environment- Ecology
Study of Fossil
A

- Palaeobiology

® Blue-green algae are the oldest organisms
on earth. They are also known as Cyno-
bacteria.

® (lass Insect represents the largest number
of world species.

®  Seacowisahuge herbivorous sea mammal.
Sea lion is also a mammal. Sea horse is a
small species of Pisces. Hence, option B is

GENERAL STUDIES TEST-6

D

e ffd goPm WAW, ehd (T W=HA)
qema: el feem fafaee ®, fowmem
TEEfE ¥ Mg,Si,0, (OH), &

B gifed gm feeq €:

CEENEaCa)) - uiferEm
e - HIN
HEEISRIET - W@ Il
ElEEIEENE] - g

A

® TSR W H ST THfu WEl ol @ ow
fF SRR @R H AT 1 e U
E G

® YRS AR 1 FATEHT & qUT BIUTH H
faeeR s 31 ed ®9 @ Y3 g 2|

® TR FellH UH el FerH A ¢
STET | C60 21 20 YIS qen 12 Tasi
¥ f3ffa =8 A 1 9 § ST W
TEARTE A ¥ @S B B

€
R w1 ST H1E FH HEA 9 3H W
Ecdtvicaeioike e RS n RARI Skl itea
3T T AN T H1F G STHIH HH TH
e | el 81 HY eReIeali 3T
o weeie fafeere o 2, 981 wro @
foF HF &1 9eRul &9 o saql | el fohar
EinA

B UEl gHoM T UHN ®:

el eTeEH - IERIGIE]

MG 3179 - SHfeFd

qAfeROT eI - @S

SHETYHT 31T - ufersmErarst

A, Ul W HeE [WH SE A 2Rd e €
TR GEA-SFI @ % w9 H S S
2l

C e o gan | yeitaal 1 9 a8 9em
1 yfafAfae w2

I T uw fovnd, vmewd 9gst
W @1 wgs fog off s femuad 2
T HIS] UF YRR F HIGH ASA €

PTG




31.

33.

34.
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38.

correct.

Only female mosquitoes suck the blood
of warm blooded vertebrate birds and
mammals and live on them as an ecto-
parasite.

Generally, female mosquitoes are larger
than male mosquitoes.

Saffron is a spice, derived from the style
and stigmas of the flower of Crocus sativus.

Quinine is a major drug used to treat
malaria. Quinine is extracted from the bark
of Cinchona tree.

Bacteria are simplest, single-celled
primitive microbes. There are some harmful
bacteria that can cause illness and disease
while others are beneficial.

Cactus, calotropis, aloe, etc. are desert
plants which have the capability to complete
their life cycle even in dry atmosphere. The
root system of these plants become longer
in search of water from the soil while
their stems are small, adapted and even
underground sometimes.

Blue-green algae and Azolla are bio-
fertilizers. However, Alfalfa is a perennial
flowering plant of the Pea family.

Plaques formed on teeth are made up of
food particles, saliva, mouth acids and
bacteria in the oral cavity.

The work of providing protection against
diseases is done by White blood cells.

Blood group AB individuals have both A
and B antigens on the surface of their RBCs
and their blood plasma do not contain any
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40. C

41. C

42. A

43. A

45. A
®

antibodies. Therefore, an individual with
type AB blood can receive blood from
any group, but cannot donate blood to any
group other than AB. They are known as
universal recipients.

Kidneys removes excess organic molecules
from the blood and it is by this action that
their best known function is performed: the
removal of waste products of metabolism.

Decay of organic matter, volcanic action
and respiration and burning of fossil fuel
etc contribute Carbon dioxide to the Carbon
cycle, whereas plants use Carbon dioxide
in the process of photosynthesis rather than
forming it.

Consumers are organisms of an ecological
food chain which receive energy by
consuming other organisms. These
organisms are formally referred to as
heterotrophs. Hence statement (3) is wrong.

Organic matter is recycled in an ecosystem
by decomposers. Decomposers are
organisms such as bacteria and fungi
that brake down the organic matter in the
dead bodies of plants and animals. Hence
statement (4) is also wrong.

Primary consumers feed on primary
producers (plants). Tiger is carnivorous and
fox is omnivorous. Hence option (a) is the
correct answer.

In ecology, bionomics (Greek : bio =
life ; nomos = law) is the comprehensive
study of an organism and its relation to its
environment.

Another way of expressing this word is the
term currently referred to as “ecology™.
It stresses on the value of natural systems

which influence human systems and is not
related to management of life.

The flow of energy in the ecosystem is
unidirectional. The energy enters the plants
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through photosynthesis during the making
of food. This energy is then passed from
one organism to another in a food chain.

Five main threats to biodiversity are
commonly recognized- invasive alien
species, climate change, nutrient loading
and pollution, habitat change and over-
exploitation. Hence (c) is the correct
answer.

The reason is that, there has been a large-
scale reduction in the habitats of the birds
because of large use of pesticides, chemical
fertilizers and mosquito repellents.
Pesticides like D.D.T. enter into the food-
chain and cause untimely raveling of bird’s
eggs which ultimately causes decrease in
birds’ population.

The list of Endangered and Critically
Endangered animals includes: Kashmir
Stag, Great Indian Bustard and Lion-
tailed Macaque. Hence, no option can be
considered as correct.

Hotspots are not only located in tropical
regions but also in temperate regions
(California, Japanese islands).

India has four Biodiversity hot spots-
Eastern Himalayas, Western Ghats, Indo-
Myanmar border and Sundaland.

All the options given are included in the list
of Ramsar sites.

The contribution of gases in Greenhouse
effect-

Water Vapor 36-72%

Carbon Dioxide 9-26%

Methane 4-9%

Ozone 3-7%

Rice fields, coal mines and domestic animal
are human sources of methane emissions
in the atmosphere while wetlands, sea
hydrates are natural sources of methane
emission. Maximum 76% of the total
methane emission from natural sources is
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emitted through the wetland only.

According to Intergovernmental Panel on
Climate change, the sea level is expected
fo rise from 0.33m to 0.45m from 1990
to 2100 A.D. Hence statement (2) is not
correct.

Scientist of Manchester University has
suggested using sea water for creating
brightening clouds for maximum reflection
of sun rays. This will help controlling
global warming.

Ozone layer is mainly found in the
lower portion of the stratosphere from
approximately 20 to 35 kilometers above
the Earth, though the thickness varies
seasonally and geographically. Actually,
10% of the ozone layer is found in
troposphere and 90% in stratosphere.

Gases responsible for depletion of ozone
layer are- CFC, Halon—1211,1301, Nitrous
oxide and Tri-chloroethylene etc.

The ozone layer is a layer in Earth’s
atmosphere which absorbs 93-99% of the
sun’s high-frequency ultraviolet light,
which is potentially damaging to life
on earth. Hence, both Assertion (A) and
Reason (R) are true and (R) is the correct
explanation of (A).

However if ozone is considered as a gas
only, it is harmful for biotic life for being
poisonous.

Karnataka - Bandipur National Park
Uttarakhand - Rajaji National Park
Odisha - Simlipal National park
Assam - Manas National park

Methane is roughly 30 times more potent
as a heat-frapping green house gas as
compared to CO,.

The solar power source of renewable
energy has the greatest potential in India.
International Solar Alliance envisions to
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67.

tap this potential.

Biomass gasification means incomplete
combustion of biomass resulting in the
production of combustible gases consisting
of Carbon monoxide, Hydrogen and traces
of Methane. Hence statement (2) is not
correct.

The resulting gas from the gasification
process is called producer gas which is
itself a fuel and can be used in internal
combustion engines. Hence statement (3)
is also incorrect.

Minerals are exhaustible which means if
we extract this resource, one day it will
run out while solar energy is inexhaustible.
Methane and Carbon dioxide are Biogas.

Photochemical smog is a mixture of
pollutants that are formed when Nitrogen
oxides (NO,), Ozone (O,) and Per oxy-
acetyl nitrate (PAN) reacts with sunlight,
creating a brown haze above cities.

Sulphur dioxide and Nitrogen oxide are
the main factors for Acid rain. Acid rain
contaminates rain water and snow. This
produces adverse impact on rivers, lakes
and ponds.

The highest chemical pollution caused
by the industrial effluents is from leather
industry. The leather industry is mainly
responsible for water and soil pollution.

The cyclone divider is not used to check
air pollution. Filter bags are used to
filter pollutant particles of less than 50
micrometer size. Cyclone separator or
cyclone collector is used to filter particles
of more than 50 micrometer size.

Animal Welfare Board of India is a
statutory body advising the Government of
India on animal welfare laws, and promotes
animal welfare in the country of India. So,
statement 4 is wrong .
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BOD indicates the amount of organic
matter present in water. Therefore, a low
BOD is an indicator of good quality water,
while a high BOD indicates polluted water.

A fuel cell is an electrochemical cell that
converts the chemical energy from a fuel
into electricity through an electrochemical
reaction of hydrogen with oxygen. In this
process fuel cell produces electricity and as
a by-product water along with heat. Hence
statement (1) is correct.

Stationary fuel «cells are wused for
commercial, industrial and residential
purposes and backup power generation.
Hence statement (2) is not correct.

Fuel cells generate direct current (DC).
Hence statement (3) is incorrect.

Both the statement about National Board
for Wildlife are correct.

Agenda, 21 is a non-binding, voluntarily
implemented action plan of the United
Nations with regard to sustainable
development. It is a product of Earth
Summit (UN Conference on Environment
and Development) held in Rio de Janeiro,
Brazil in 1992.

World Environment - June 5

Day

World Forestry Day - March 21

World Habitat Hay - First Monday of
October

World Ozone Day - September 16

Baba Amte was related to wild life
conservation and Narmada Bachao
Andolan and Dr. Salim Ali was related with
Silent Valley Movement.

Dakshin Gangotri is the first research base
station of India situated in Antarctica. It
is currently being used as a supply base
and transit camp. India’s second research
center ‘Maitree” was established in 1988-
89. India’s third research station ‘Bharati’
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was established in 2012.

The  United Nations Environment
Programme (UNEP) has recognized Dr.
M.S. Swaminathan as Father of Economic
Ecology.

Eco-mark is an eco-labelling scheme
which was constituted by the Government
of India in 1991 for easy identification of
environment friendly products. Drugs and
Antibiotics are not in this list.

Radioactive pollution causes hereditary
changes in the all living organism. It
hinders blood circulation and causes
carcinogenesis. It does not cause imbalance
among different minerals in the soil.

Natural vegetation is the true index of
climate.

Water-loving or aquatic plants are those
which are found mostly in muddy land and
near the ponds, i.e. in moist climate.

Hence, both Assertion (A) and Reason (R)
are correct and Reason (R) is the correct
explanation of Assertion (A).

National Green Tribunal was established
on 18 October, 2010 under the National
Green Tribunal Act, 2010 for effective and
expeditious disposal of cases relating to
environmental protection and conservation
of forest in consonance with Right to Life
(Atticle 21).

The Genetic Engineering Appraisal
Committee is constituted under the
Environment Protection Act, 1986. It is the
apex body constituted in the Ministry of
Environment, Forest and Climate Change.

An ecosystem is a community of living
organisms in conjunction with the non-
living components of their environment
(air, water, mineral and soil) interacting
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as a system. If is normally an open system
with a continuous, but variable influx and
loss of materials and energy.

Ecological niche characterizes the
position of a species within an ecosystem,
comprising species habitat requirements as
well as its functional role.

Decomposers are nature’s recyclers as
they break down the organic matter found
in the dead bodies of plants and animals.
Decomposers are mainly the micro-
organisms such as bacteria and fungi in the
form of yeasts and mould.

The main objective of biosphere reserves
are:

To contribute to the conservation of
landscapes, ecosystems, species and
genetic variation;

To foster economic and human development
which is socio-culturally and ecologically
sustainable;

To provide support for research, monitoring,
education and information exchange
related to local, national and global issues
of conservation and development.

The National Biodiversity Authority (NBA)
with its headquarters in Chennai, was
established in 2003 to implement India’s
Biological Diversity Act (2002). The Act
covers conservation, use of biological
resources and associated knowledge. In
the context of given question, all the given
statements about NBA are correct.

A plant cell is different from animal cell
mainly on the basis of the cell wall. The
outer shell in a plant cell is known as cell
wall, which is not found in the animal cell.

Beside this, green plastids are found in
plant cells while not in animal cells.

The rough endoplasmic reticulum is
named as such because its outer membrane
is littered with r1ibosomes, which are
responsible for protein synthesis.
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Trypsin, Ptyalin and Pepsin are digestive
enzymes whose secretion is performed
by pancreas, salivary gland and stomach
respectively.

Gastrinis a peptide hormone that stimulates
secretion of gastric acid by the parental cells
of the stomach and aids in gastric mobility.
It is released by delta cells of the pancreas.

Protein of food is broken down into amino
acids with the help of Trypsin.

The Pancreas is a digestive organ, secreting
Pancreatic juice containing digestive
enzymes that assist in digestion.

Fats have highest calorie value per unit
because of its higher rate of oxidation.

SAHYOG-HOPTAC is the joint exercise
of Coast guards of India and Vietnam. It
was held in the Bay of Bengal, off Chennai
Coast, Tamil Nadu.

Nilgiri Tahr inhabits the open montane
grassland habitats at elevations from 1200
to 2600 m (generally above 2000 m) of the
South Western Ghats not North Western
Ghats. Hence, statement 1 is wrong.

The Green Climate Fund (GCF) is a fund
within the framework of the UNFCCC
founded as a mechanism to redistribute
money from the developedto the developing
world, in order to assist the developing
countries in adaptation and mitigation
practices to counter climate change.

To protect the constitution and the law of
the country is not the mission of Central
Bureau of Investigation.

Prime Minister is not the chairman of
National Tiger Conservation Authority
(NTCA). Environment Minister is the
chairman of NTCA. Hence, statement 2 is
wrong.

MARPOL is associated with marine
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pollution. It is the short form of MARine
POLlution.

Only six species of tiger are left in the
world: Bengal tiger, Amur tiger, South
China tiger, Sumatran tiger, Indochinese
tiger, Malayan tiger.

Train 18 is India’s next- generation train.
It is designed and built by Integral Coach
Factory (ICF) Chennai under the Indian
government's Make in India initiative.

At CSIR, NEERI- the Emission Testing
Center has been established.

SWAS, SAFAI and STAR are less pollution
firecrackers developed by CSIR.
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